O] ﬁtYJLg’S Tamilnadu Board Class 11 Bio-Botany Sample Paper
SET -1
2_uflflwev / BIOLOGY
Gueaflene — apseorid eyair@ / HIGHER SECONDARY (FIRST YEAR)
u@d — | (2_ullflwev -sraureilwsv) / PART — | (BIO - BOTANY)
(s wHmID gy misElsv eulfl / Tamil & English Version)

Gmrin: 1:15 wewfl ] [ Owrss wHiCuaTHeT: 35
Time allowed: 1:15 Hours ] [ Maximum Marks : 35

Pleyswraser: (1) oewarsg alarrdssepnd Flwrs LSeurd o 6TaTST 6T6ITLISEH 6T
FAUTTEEIH Cararera)n. FalLSalsd) GonulHLileT ojmsd
HeTHTeTlLILTerTflL LD 2 L esriguwirsg 6sflaildsseai.

(2) P gevewg s@OLY  wullwer  WCEGWL  TWSHIMBHEGLD
IYg5CaTYHusHGL  LwsTUGSS  Goue(Bid. LIL_MIg56iT
umTaUSN @ GlLITFD LIweTL(HSSeLD.

Instrucitons: (1) Check the question paper for fairness of printing. If there is any
lack of fairness, inform the Hall Supervisor immediately.

(2) Use Blue or Black ink to write and underline and pencil to draw
the diagrams.

ifley — 1/ SECTION - |

gouy: () oewearss alarrssens @ allewLweldssea)i.
(i) OGesr@ssiuu’ L prerg olmLsalld Wsaybd ghysLw
eilwuilswers Caipels0s5 GBI GLer  ailswLullsneru)m
CFirdg| 6T(LHSH6LD.
Note: (i)  Answer all the questions.
(i) Choose the most suitable answer from the given four
alternatives and write the option code and the corresponding
answer.
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LiledTeu meusiTeudmI6T 6T&| FuwiGesrmLITd e fluibigem e LIssTLIsVsV?

() LV BFVHETTEL Sy 6sTEM6U

(=) oL _LewiolienL 2 (heurds @ dsledTm 6ot

(3) wrFewL_hs BiBlewsvsetlev B LTHF ClFMleneu 67 LIBHS IS 65T 68T

(r) suerl oewoTL 60 PBLT WS BlewVBIIS 151657 M o1

Which one of the following is not the characteristic feature of cyanobacteria?
(a) they are multicellular

(b) they form colonies

(c) they form blooms in polluted water bodies

(d) they can fix atmospheric nitrogen

Neraumeusraupmist  sriiuesry  oflews  CHTOTMIMISNGG  STTERIOTHE
SCEINIRICES TR

(@) wrpmielsgis Hereo

(=) p@ogw CHfl o uilfl aimpdhenss aiphHdl

(@) pefldg airepio GH161 L& Hreurid

(/) iy ollSs55 Sreurid

Which one of the following is considered important in the development of seed
habit?

(a) Heterospory

(b) Haplontic life cycle

(c) Free living gametophyte

(d) Dependent sporophyte

seurget g linGslulledmha  CsTssTes  Csrermin Gy Geuider
6T6UOUT M| B|6W P LILIL (H35]6dT M 6uT

(o) @Ozr@ iy Couitasir () @pigda Gaurgeir

(3)) suswerws Geurrgsir (FF) oewflomemev sutgeu Geurdssir

When the storage roots occur in clusters from the base of the stem, they are

called
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(a) Fasiculated roots (b) Nodulated roots
(c) Annulated roots (d) Beaded roots

4) Ulsiteu (peussTeummisit Flwmesrg) 61a?

(©)) LIV 6TETLIG) SL DL WTET LyHHaTdhEler 5G| O6wLDbHSI6TeT &TLDLjeDL LI

evTsemerd ClaTenrL rFGLTe suews LoEhi]

(<) sevfll 7F1D @ ewL_wirest swww FFer LG g PHL M6l CBmrdaslw
auflensuléd Lo semers G ey (@b

(3) wLsvagli WEpaT] GL »LWTeT swww HFFD C\FTBIG Slewrd CldhTesdTL
rAGrev EheFT oy @

(%) sTiUHD WeTEmars AsrarL rfib wepsh S8 wepef s (o)

OB THIE SFiT
Which of the following is true?

(a) Umbel is a racemose inflorescence where all the stalked flower aggregate
on the flat receptacle.

(b) Raceme is a racemose inflorescence having main axis shortened and
flowers borne acropetally.

(c) Spadix is racemose inflorescence having pendulous spike with main aixs
much flattened.

(d) Spike is a racemose inflorescence having sessile flowers.

S s&mpo
(i) SUMSLILITL 1 WI6) 6T6dTLIG  6uswSLILBHSSHISHL wHMID  GLwflBHensv
Ol TeRTL G
(ii) G liLiflenTmio QUEN S LILITL 1 1L16V TEITLIG) U LILIBHSSHIH6V,

QUWNBS WHMID UTEHISTEHBDD 2_6TeTL_Sdlg)
(o) (i) wooub (i) Grew®io surars
(=) () sflwrarg, (i) seuprearg
(@) () pouprerg (i) sMwrerg,
() (i) wpoud (i) Greav®b sauprearg
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Statement

(1) Taxonomy governs the practices of the classification and naming

(ii) Systematics governs the practices of classification, naming and
preservation

(a) Both (i) and (ii) are correct

(b) (i) is correct and (ii) is wrong

(c) (i) is wrong and (ii) is correct

(d) Both (i) and (ii) are wrong

6) ‘9BIGL  @Egwrs Bl @ o6uwie’  (Flip-flop  movement)

Olg LILIDL_ TS QaTant(®), Lol aussraunmier Fflwret dhmi 61g)?

(@) yrpmsst  gmgh  Gr@wrs  plewd G Oeuwiier
CunolsTerslesrmer, Gl&TupLliLser Gm bl TsiTeuglsvens.

(=) YrgmiseEpd, CBTIRILHEHD BIGD @BIGLTS Blaegh @)L iClLuwiTeme
Gun s Tereuglsvsnsv.

(@) uyrsmsepd,  CarelysEpd  YEGD  FEEGWLTS  BlEWLD
@)L LiGuwieneu ComelsrerdleTmer.

()  Oarepliyssr oflars mIGLD @BiGLrs Blswd @)L L6luwiensu
CunolsTeTHleTmet, Lrgmisst GomblasTersuglsVsmey.

Regarding flip-flop movement, which one of the following statement is correct?

(a) Proteins can flip-flop, lipids cannot

(b) Neither lipids nor proteins can flip-flop

(c) Both lipids and proteins can flip-flop

(d)  Lipdis can rarely flip-flop, proteins cannot

7) g rivuplemeouilst 8C  Gamewr. DNA, 'S’ flewevd @l L@ stdsemesr DNA-

S BT 6% 6Ty (hd&HLD7?

(=) 4C (=) 8C

(@) 64C (/) 16C

If the initial amount of DNA is 8C then after S phase the amount of DNA would

be
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(a) 4C (b) 8C
(c)64 C (d) 16C
8)  LsireumeusTaumhmier sTeneu @)TL DL FTdHBOIL
(o) #&8rmsiv (<) MGLITe
(@) sre (/) Ciré@Lmen

Which of the following is disaccharide
(a) Sucrose (b) Ribose
(c) Starch (e) Fructose
ey — 11 / SECTION - I
4x2 =8
Il. cTewauCuien|d  Brer@ allarmEsendsd 30 uTTSmBHEHEHEG — LOSTLOEY
allenL_wefldbasea.

Answer any four of the following not exceeding 30 words.

9. Complete the Multiplication cycle of Phage
ooLIT6iT CLI(hESHEF HPDFewwll YiHs) CFiis.

Adsorption
59119 & 61 T6iT (EH % 6V
v

?

v

Synthesis

oo LITESl6BT LIT & BIS%6IT
2 MHuGH ClFiige0

!

?

A 4

Release
GeuaflGuwmHmid
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10) sheond FrésamrBH6r pBHd @G FTdbbenTaer 6T6srLILI(HA6ITM6IT. B 6vTT6D
@l ewL_ g FréEsemrBHH6T Hesueurm| e»LdhdLILIHeUSVemsV. 676377,
Monosaccharides are called ‘reducing sugars’ but disaccharides are not.
Why?.

11)  sreaursisefler sTliLi@glssr LilsiTouHomm 2 (HLTHMLD 96»L_[HgI6T6eT6esT
(=) ApLiupgAst GGl
(=) SCasaflwrailsr Gmusesmifled @
Which common plant part has been transformed into the following different
modifications.
(a) Pitcher of Nepenthes
(b) Phyllode of Acacia

12)  oigls Cpriv whmid Goopphs Cpriv pevLCumid CFdsppAullsr @)
Blewevgsemeard &mILiL(hae
Name the two phases of cell cycle which lasts for longest and shortest span of
hours.

13)  ewwl GLraremigur Qo Fsuaflsr AMLUILLT LISHTLSET 6T105I%.
Write a specific feature about the membrane of mitochondria.

14)  wEBSTSH LWSTURD @redr T Bewed eusTifengi wrHMIT QUITEHL S6r
Brewrig e ClLIWTHDENS 5 [H%.

Give two examples of secondary metabolites used as drugs.

ey — 111 / SECTION - I
3x3 =9
lll.  stoweuGuisnid  cpssrm  llerTdsensE 45 auridenssehds@ — WaTLO
aflewL_weflsseayd. ellerr stewr. 18 —h@ sewngliurs aflenL_wefldEseayLb.
Answer any three of the following not exceeding 45 words. Question No. 18

is compulsory.
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15)  “UewrCuirssewul seflesr &hmoymss@ BT eufwwrarg” - @)&Em mewn
Auruiiu®ses
‘Bryophytes need water for fertilization’ — Justify the statement.

16) Q@eriumEs 2 MILISEHEGD, ST 2 MIfLsEhsG0D  @)ewL Guiwiresr
epeTmI CoupiLBd LTHTLSMaT 6T (0515

Write any three distinguishing features between accessory and reproductive

organs of flowers.

17) Qar@ssiul_(hsrer s LILFHeuT 2 evLw enLodledlwid e
UL $69S g LILenL_THdS G1HTenT(® L) 2 L & [Hblenev
CasTenTL swFdlwsbemns aIenTs.

Refer the diagram of septate mycelium given. With that

reference draw coenocytic mycelium.

18)

UewrGuimos LG o> b Gevrmery 9}, 65F Cuimen

OLIL_&6T MLIL_&6T O urribgseT Oumib&eT

Brvophvtes Pteridophyes Gvmnosperm Anaiosperms
LD6V T & 61T
Flowers

ailews Seed
DT HEHL DL
/ Wood

/ QUTEN&H6VS

Bl 56T

GGsvuysirer eus»TLILIL LD 6THmesTd GMISSMEI? 351 eTeueurmy) (3)esriiLiflessrmio
Qrweourl s Glgefleurss 2 sayslingi.
What does the above figure refers to? How does this help to elucidate
mechanism of phylogeny.
19. £Cev QsTHEHLL_Herer UL GHe0 AB,C LTssHemar @Gnldbsa|ib.
Mark the A,B,C parts for given diagram
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20)

21)
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%nﬁ‘iﬁ' ' \m)gmmaﬁjﬁ
wic=uly - Vi

MEMBRAMNE STRUCTURE: FLUID-ROSAIC MODEL

Liifley — IV / SECITON - IV
2x5 =10
ST S G| MUTTEH S Eh% LD O QUTTHeMSBEEhd @) LOHTLO6V allewL_wierfldsea|Lb.
Answer all the following not exceeding 75 words.
Ulstteupid LTl s afledt g litienL_uilsy 7CHMID CLPeTMI UEGHLILBDOTE FTTHS
urfsenear spuiLll(hs.
(=1) Bl iblaseir
(<) Goubliiemrey
(@) sewsullswpsaflsit sTevTemildens WHMILD je»LD6Y
(Sfevs051)
Cpiyel oriy Osrewr sTeurll ug@gluller LGaMm| LOENTL VBISEDET
allers @ s.
Compare the three classes of algae on the basis of the following parameters
(a) Major pigment
(b) Stored food
(c) Number of flagella and their positon of insertion
(or)

Explain the regions of positively geotropic part of the plant.

WUFLD FL WL 6ULD 6Tdh&HHDLUSMSF FTTHBHIHI?
(o)) yevellau b  (24) Vel euLib (§)) wasThssHTeT L b () GV
sul L ib (2_) sevsfl — g Slweunmlesr FAmLiLdF LIHTLSED6T 6T(LPSHI.

(fsvs0g1)
QaFsvlifg et (wpiyailsy @ CFL BTETE OGFLHMOTH H(HGIMGI. 6TeUMMS
Qv UlfgeL 6Tesrd SewTL_Wlhgl, UMITWSSD BT (Pdhaldgleudhend
TPHI.
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Identify the family of the plant Pisum Sativum. Write the diagnostic features
based on
(a) Calyx (b) Corolla (c) Androecium (d) Gynoecium  (e) Fruit
(or)
At the end of a cell division, a cell produces four cells. Identify the type of cell

division and mention its significance in evolution.
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